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UNIVERSITY OF NORTH BENGAL 
B.A. Honours 6th Semester Examination, 2022 

DSE-P3-SANSKRIT 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 
 

The question paper contains DSE-3A and DSE-3B.  
Candidates are required to answer any one from the two papers and they should  

mention it clearly on the Answer Book. 

 DSE-3A 

1. laL—rHkk’k;k nsoukxjhfyI;k p };ks% izÜu;ks% mÙkja izns;e~ & 12×2 = 24

(d) euqlafgrkeoyEC; l`f’VizfØ;k lfoLrkjs.k O;k[;s;kA  

([k) Ekuqlafgrk;ka izFkek/;k;s euq’;srjtkrhuka mr~ifÙk% vkykspuh;kA  

(x) Euqlafgrkef/k—R; prqo.kkZukeqr~ifÙk% rs’kka deZf.k p vkyksp;rA 

   
2. laL—rHkk’k;k nsoukxjhfyI;k O;k[;k dk;kZ (,dL;) 6×1 = 6

(d) ;Ùkr~ dkj.keO;Dra fUkR;a lnlnkRede~। 
rf}l’̀V% l iq#’kks yksds ozãsfr dhR;Zrs॥ 

 

([k) vklhfnna reksHkwreizKkrey{k.ke~। 
vizrD;ZefoKs;a izlqRifHkc loZr%॥ 

 

   
3. cHkk’k;k vkyHkk’k;k ok vuqokn% dk;Z% (};ks%) 6×2 = 12

(d) lks·fHk/;k; “kjhjkr~ Lokr~ fll{̀kqfofo/kk% iztk%। 
vi ,o lltkZnkS rklqohteoklt̀r~॥ 

 

([k) Rknkfo”kfUr Hkwrkfu egkfUr lg deZfHk%। 
euÜpko;oS% lw{eS% loZHkwr—nO;;e~॥ 

 

(x) vUO;ks ek=k foukf”kU;ks n”k/kkZuka rq ;k% Lèrk%। 
rkfHk% lk/kZfena loZa lEHkoR;uqiwoZ”k%॥ 
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4. laL—rHkk’k;k nsoukxjhfyI;k p fVIi.kh ys[kuh;k (prq.kkZe~) 3×4 = 12

 Lo;EHkq%] O;kDrkO;Dre~] iegkHkwr~ f=xq.ke~] “kaflrozr%] iegk;K%  

   

5. laL—rHkk’k;k nsoukxjhfyI;ak ‘k..kka laf{kIrksÙkja izns;e~ & 1×6 = 6

(d) dLekn~ vki mr~i|rs \  

([k) Ekuqlafgrk;k% izFkek/;k;L; uke fde~ \  

(x) izFkeiq#’k:is.k d% vkfoHkwZ Zrks·Hkor~ \  

(?k) iztkiR;qikf/kHkwrk% fufnZ’Vk% eg’kZ;% ds \  

(³) euq";% dnk O;kf/k”kwU;% vklhr~ \  

(p) lR;-=srk-}kijs’kq fdeklhr~ euq’;k.kka Js’B% /keZ% \  

(N) czãkfufnZ’Vkuka czkã.kkuka dk;kZfu dkfu \  

(t) eUoFkZeqDrkoyhfr <hdk;k% ys[kd% d% \  

(>) dkfu i sfUnz;kf.k \  

  
 

DSE-3B 

 Unit-I 

1. laL—rHkk’k;k nsoukxjhfyI;k p ,dL;ksÙkja izns;e~~ & 12×1 = 12

(d) ^Ukkjh.kak nw’k.kkfu ‘kV~̂ & pUnunkl-yhykorhdFkkef/k—R; vkyksP;rke~A  

([k) fp=xzho-fgj.;ddFkkekyksP; RkL;k% mins”k% O;k[;s;A  

   
2. cHkk’k;k vkyHkk’k;k ok vuqokn% dk;Z% (};ks%) 3×2 = 6

(d) u fg rf}|rs fdf|FksZu u fl)Ófr। 
;Rusu efrekLrLeknFkZesda izlk/k;sr~॥ 

 

([k) vuH;kls fo’ka fo|k vth.ksZ Hkkstua fo’ke~। 
fo’ka lHkk nfjnzL; o)̀L; r#.kh fo’ke~॥ 

 

(x) LFkkua ukfLr {k.ka ukfLr ukfLr izkFkZf;rk uj%। 
Rksu ukjn ukjh.kak lrhRoeqitk;rs॥  

 

   
3. laL—rHkk’k;k nsoukxjhfyI;k p ,dL; O;k[;k dk;kZ & 6×1 = 6

(d) bgyksds fg /kfuuka ijks·fi Lotuk;rs। 
Lotuks·fi nzfjnzk.kka loZnk ntZuk;rs॥ 
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([k) ;L; fe=s.k laHkk’kk ;L; fe=s.k lafLFkfr%। 
;L; fe=s.k laykiLrrks ukLrhg iq.;oku~॥ 

 

   

4. laL—rHkk’k;k nsoukxjhfyI;k ‘k..kka laf{kIrksÙkja izns;e~ & 1×6 = 6

(d) loZnzO;s’kq fo|k dFka Js’B% \  

([k) fo|k fda nnkfr \  

(x) d% lqn”kZu% \ l% ,dnk fda Jqroku~ \  

(?k) /keZykHkL; mik;% d% \  

(³) dhn”̀ka nkua lQya Hkofr \  

(p) ds’kq foÜokl% u drZO;% \  

(N) fgrksins”k bfr xzUFkL; ys[kd% d% \  

(Tk) ds lfUr ‘kM~nks’kk% \  

   

 Unit-II  

5. laL—rHkk’k;k nsoukxjhfyI;k p ,dL;ksÙkja izns;e~~ & 12×1 = 12

 (d) irU=L; fe=Hksnka”ks cd-ddZVdFkk LoHkk’k;k O;k[;k;rke~A  

([k) irU=ef/k—R; flag-“k”kddFkk vkyksP;rke~A  

   
6. cHkk’k;k vkyHkk’k;k ok vuqokn% dk;Z% (};ks%) 3×2 = 6

 (d) vfLr nkf{k.kkR;s tuins efgykjksI;a uke uxje~A r= ldykfFkZlkFkZdYinzqe% 

izojuìeqdqVef.kejhfpejh&p;pfpZrpj.k;qxy% ldydykija xrks·ej”kfäukZek jktk 

cHkwoA rL; =;% iq=k% ijenqesZ/klks olq”kfä-#xz”kfäjusd”kfäÜpsfr ukekuks cHkwoq%A 

 

([k) vkjksgfr u ;% LoL; oa”kL;kxzs /otks ;Fkk। 

ifjofrZfu lalkjs èr% dks ok u tk;rs॥ 

 

(x) iwT;rs ;niwT;ks·fi inxE;ks·fi xE;rs। 

oU|rs ;noU|ks·fi l izHkkoks /kuL; p॥ 

 

   
7. laL—rHkk’k;k nsoukxjhfyI;k p ,dL; O;k[;k dk;kZ & 6×1 = 6

(d) ew[kkZ.kka if.Mrk }s’k;k fu/kZukuka egk/kuk%। 
ozfru% iki”khykuke~ vlrhuka dqyfL=;%॥ 
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([k) bg yksds fg /kfuuka ijks·fi Lotuk;rs। 
Lotuks·fi nfjnzk.kak loZnk nqtZuk;rs॥ 

 

   
8. laL—rHkk’k;k nsoukxjhfyI;k p ‘k..kka laf{kIrksÙkja izns;e~ & 1×6 = 6

(d) ^irU=e~^ bfr ukedj.kL; dkj.ka fde~ \  

([k) ^irU=e~^ bfr xYixzUFkL; jpf;rk d% \  

(x) irU=s dfr dFkk% lfUr \  

(?k) o/kZekuuxjL; iqjuk;dL; uke fdeklhr~ \  

(³) uhyo.kZ-Jx̀kyL; uke fde~ \  

(p) ds vklu~ enksr~dVL; vuqpjk% \  

(N) dks vklhr~ efgykjksI; uxjL; jktk \  

(Tk) lhod% d% \  

(>) fo’.kq”kekZ fdeFkZa irU=a jfproku~ \  

 
——×—— 

 


